1. Tycrs A = (log, 15 +log;52 —2)% - (log; 5 15 -logy” 15 — log)” 15) +4log? 15.

Haiinure 3HaYeHNE BBIpAKECHUS 24,

2. Tlyers A = (log, 19+1log 52 —2)%° - (logy 5 19 log)” 19 — log,” 19) +4log} 19.

Haiinure 3Ha4eHNE BBIpAKCHUS 24,

3. Tyers A = (log, 5 +1logs 2 —2)" - (log, 5 5-log)” 5 — log,” 5) +4log} 5.

Haiinure 3HaYeHNE BRIpAKCHUS 24,

4. Tlyers A = (log, 21 +log,; 2 —2)%7 - (log, 521 - logy” 21 —log, 21) +4log} 21.

Haiinure 3HaYeHNE BBIpAXKEHUS 2A.

5. Tycrs A = (log, 11+1log;; 2 —2)" - (logs 5 11 -log)” 11 —log)” 11) +4log] 11.

Haiinure 3HaYeHNE BBIPAKCHUS 24,
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